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a = set()
print(a) # prints set()
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a={1, 2, 5}
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a = set()

a.add("banana")

a.add("apple")

a.add("cherry")

print(a) # prints {"banana","apple",'"cherry"}
a.add("banana")

print(a) # prints {"banana",'"apple",'"cherry"}
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a.remove ("banana")
print(a) # prints {"apple","cherry"}
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a.clear()
print(a) # prints set()
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a = {"banana","apple","cherry"}
print(len(a)) # prints 3
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a = {"banana","apple","cherry"}
b = {"orange","apple","cherry"}
c = a.intersection(b)

print(c) # prints {"apple","cherry"}
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a = {"banana","apple","cherry"}
b = {"orange","apple","cherry"}
¢ = a.union(b)

print(c) # prints {'banana', 'orange', 'apple', 'cherry'}
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a = {"banana","apple","cherry"}
b = {"orange","apple","cherry"}
c = a.difference(b)

print(c) # prints {'banana'}
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a = {"banana","apple","cherry"}

for x in a:
print(x)
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weekdays = {"Mon":1, "Tue":2, "Wed":3, "Thur":4, "Fri":5, "Sat":6, "Sun":7}
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weekdays["Wed"] =
weekdays["Fri"] =

[
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nature = {"cat": "animal", "dog":"animal", "wheat":"plant", "grass":"plant"}
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thisdict["banana"] = 345

print(thisdict) # prints {"banana'":345}
thisdict["sandwich"] = 56

print(thisdict) # prints {"banana'":345, "sandwich":56}
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thisdict["banana"] = 12
print (thisdict) # prints {"banana":12, "sandwich":56}
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thisdict.pop("banana")
print(thisdict) # prints {"sandwich":56}
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nature = {"cat": "animal", "dog":"animal", "wheat":"plant", "grass":"plant"}
k = nature.keys()

print(k) # prints dict _keys(['cat', 'dog', 'wheat', 'grass'])

print(k[0]) # Error!!
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nature = {"cat": "animal", "dog":"animal", "wheat":"plant", "grass":"plant"}
k = nature.values()
print(k) # prints dict_values(['animal', 'animal', 'plant', 'plant'])
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nature = {"cat": "animal", "dog":"animal", "wheat":"plant", "grass":"plant"}
k = nature.items()

print(k) # prints dict_items([('cat', 'animal'), ('dog', 'animal'), ('wheat',
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for x in nature:
print (nature[x])
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for x in nature.values():
print(x)
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for x,y in nature.items():
print(x,y)
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EF = {'I':'je', 'he':'il', 'had':'eu', 'a':'une', 'an':'un', 'car':'voiture'}
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EF = {'I':'je', 'he':'il', 'had':'eu', 'a':'une', 'an':'un', 'car':'voiture'}
english = "I had a car"
words = sentence.split()
french = "I had a car"

for x in words:
french = french + EF[x] + " "

print (french) # prints je eu une voiture
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users = {'ali24': 'ksdhfie23A', 'hamid23':'kwerh432', 'reza77':'1234394'}
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print (users['ali24']) # prints 'ksdhfie23A'
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A={(0,1),(1,0),(2,3),(3,2),(5,4),(4,5),(7,5),(5,7), (4,7),(7,4)}
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A= [C0,1), (1,0, (2,3), (3,2), (5,4, 4,5, (7,5, (5,7, 4,7, (7,4)]
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N = [set()] * n
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for x in A:
N[x[0]].add(x[1])
N[x[1]].add(x[0])
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N[0] = {1}
N[1] = {0}
N[2] = {3}
N[3] = {2}
N[4] = {5,7}
N[5] = {4,7}
N[6]= set()

N[7]= {5,4}
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for x in A:
s = N[x[0]].intersection(N[x[1]])
if (len(s) > 0):
print ("Found a triangle!")
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